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1: def quicksort(a)

2: return nil.to_a if a.length ==

3: p = a.sample()

4: a.delete(p)
4’: al = Array.new(); a2 = Array.new()

5: a.each { |el

6: print "G"

7 e<p?7al<<e:a2<<e

8: 1}

9: return quicksort(al) + [p] + quicksort(a2)
10: end
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1: def quicksort(A) # A: array of distinct numbers
2: return nil if length(A) ==

3 p = a number in A chosen uniformly at random
4: delete p from A

5: foreach e in A {

6 print "G"

7 if e < p then add e to Al else add e to A2
8 }

9 return quicksort(A1l) + p + quicksort(A2)

10: end
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